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Introduction
°

All exercises will follow this general schedule

Identify potential understanding problems
— Ask your questions
— Recap of the lecture

Address the understanding problems
— Answer your questions
— Repeat certain topics

Walk through the exercises/solutions — Some hints and guidance
— Work time or presentation of results



Recap of the Lecture
©0000

You have seen ...
what is
which for TCP exist
how a TCP connection is implemented with

what is



Recap of the Lecture
0®000

You have seen ...
the and of UDP

that UDP is much compared to TCP and allows for
communication

how a UDP server and client is implemented with
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You have seen ...
as another transport layer protocol
to be used for real-time applications

as the newest relevant transport layer protocol to deal with
shortcomings of TCP for web traffic



Recap of the Lecture
0000

You have seen ...

as an essential protocol to translate between and
the for domain names
that every is part of a tree

that this tree is composed below the

what a is and which type it can have



Recap of the Lecture
0000®

You have seen ...

and as simple examples for remote access to a host
over the Internet

that the client may serve as a debugging tool

how represents very popular and alternative for remote
access

that SSH can be used to traffic through
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if no congestion occurs?
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